H & 0l & AHS B Ml A

20258 =0ila eI S

SN HRALLSED
I ARG
Sl JESH EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g sE 38,408,481 29,168,291 9,240,190
= 3,043,814
[ 150,000
Jl 7,487,601
< 4,064,836
CH 1,500,000
o 22,162,230
WP 38,336,403 29,072,227 9,264,176
= 3,043,814
[ 150,000
Jl 7,487,601
< 4,064,836
CH 1,500,000
o 22,090,152
YN 1,656,150 945,006 711,144
= 14,802
= 14,102
o 1,627,246
g8 325,346 306,780 18,566
201 er23| 5,826 189,780 A 183,954
01 AtR2t2|HI 5,586 189,300 A183,714
NZEEI} =28 1,350,000 1,350
NEALESZ W 23(84D1, I S) &
= 190,000« 12& 2,280
NEYAYM PRFT ARES 7
40,000& * 122 480
NEAYH JRFT A
9,000 x4 E413] 1,476
02 s3=gHl 240 480 A240
NEY RUS 2823
20,0002~ 12& 240
202 04l 11,520 15,000 23,480
01 SLHoIH 11,520 15,000 A\3,480
NEEH PRFT o
60,0003 x3& »643] 11,520
203 HR=4AY] 2,000 2,000
03 A= PR F&| 2,000 2,000
NEANM HOIID W (AEE BE
2,000,000& 2,000
308 XtXIEMSO0IH 306,000 306,000
13 S [2S0tHet 34 A AS A 306,000 306,000
1)100422CIHI01 Alel= 24T el
156,000,000 156,000
& 1= 0l0D| &2 150,000,000 150,000
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SN BRAMYSTD
I ARG
Sl SEE (Er2 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,740
s 11,260
307 lztol & 15,000 14,960 40
= 3,740
= 11,260
05 212t =S 15,000 14,960 40
NEJAESIILE L= 15,000,000 15,000
= 3,740
o 11,260
FOIELNRBE(EX) 29,604 28,866 738
= 14,802
= 10,362
[Ea 4,440
307 gl2tol & 29,604 28,866 738
= 14,802
= 10,362
= 4,440
05 212t =S 29,604 28,866 738
NRotzns2Y 29,604,000& 29,604
= 14,802
& 10,362
= 4,440
oL E 3 2kel 104,200 104,200
201 er2 3| 104,200 104,200
01 AtR2t2|HI 104,200 104,200
NZaze| & M= M
100,000 x 123 1,200
1N2182X015) 2el =257
250,000& * 122 3,000
110048 3 |A 2l SSEBZAHMNA)
50,000,000& 50,000
110048 B |22 SEEAHES2H)
50,000,000& 50,000
ANYFAXTLEHEE 71,000 71,000
201 =3 41,000 41,000
01 At22t2lH] 41,000 41,000
NAgHE S5(8E) 84
41,000,000 41,000
401 AlEHIZ R0 30,000 30,000
01 Al&H| 30,000 30,000
NZae/HeHI = 30,000,000& 30,000
JEZHEHS 54,000 0 54,000
201 ger=3| 32,000 32,000
01 AtR2te|H] 32,000 32,000




2A:

M EZ
B T
el ZEER (Bt &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
NADIEE AN AHIEES
30,000,000& 30,000
DA ERAS Ao
200,000& =10 2,000
401 A& HILS0HY| 22,000 22,000
01 Al&HI 22,000 22,000
NAPK-ZEHEH EA 22,000,000& 22,000
A A2 (FAUER0IA) 485,000 485,000
401 AIEHIZL 28I 485,000 485,000
01 Al&Hl 485,000 485,000
NHl2 22932 SESEA dXAY
20,000,000 20,000
NS MEA UL MHA A
25,000,000 25,000
NS D&l USE MAA
20,000,000& 20,000
NEA OIEFH dS=HAHAY
40,000,000 40,000
DA 2LIR2Z FHIAY
20,000,000& 20,000
DEL A2 S&t2 FJY 10,000,000 10,000
NEA SIS S&t2 F|
10,000,000& 10,000
NE ZA MY 22| 180,000,000 180,000
NE 32 o=, "= 2el
160,000,000& 160,000
PRy 9,081,833 7,632,600 1,449,233
s 150,000
= 500,000
CH 1,500,000
= 6,931,833
Pk Rl g 56,833 138,600 AB1,767
201 Ler2 | 30,533 109,120 NT78,587
01 A=R2teld| 17,765 838,320 A70,555
NEANG AREERY
50,0003 *12& 600
DALY AREZX OHAL|
9,000 x5 x413] 1,845
N3EXNY T2 1,320,000& 1,320
NASEEIHIL ANl S
2,000,000 *7JH 2 14,000
2 S=29| 12,768 20,800 A8,032
NERFE RERZ 99,000 128 1,188
NEALS X TSIEA 60,000 60
N38XE 230 2 =2l
360,0002 123 4,320




SN BRAMYSTD
I ARG
o9l JEdg EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NN BaAE 2t
600,000 * 12 7,200
202 04dl 21,300 24,480 A3,180
01 2L AL 21,300 24,480 3,180
NEBEME A2EE 2UoHH
60,0002 x5 »583] 17,400
NEALY AREX TLE 2UY0lY
60,0003 1 *653] 3,900
203 HR=H] 5,000 5,000
03 A=A RN 5,000 5,000
NEOIS U AEE HE
5,000,000& 5,000
NSHAXE (HEAD) 2,950,000 0 2,950,000
== 500,000
o 2,450,000
101 e124d| 150,000 0 150,000
< 82,500
= 67,500
M ORIMZZ2NSE S 150,000 0 150,000
NALHATH o1 150,000,000 150,000
= 82,500
= 67,500
206 MH=H| 250,000 0 250,000
=S 137,500
s 112,500
01 M=4l 250,000 0 250,000
NALHAZTE W2 7
250,000,000 250,000
[ 137,500
T 112,500
401 AlZHIZ SO 2,550,000 0 2,550,000
= 280,000
Ea 2,270,000
01 AlZH| 2,536,500 0 2,536,500
NALEAxH 376,535,000 376,535
S 276,535
o 100,000
NXLEAITH(26H) 2, 159,965,000 2,159,965
03 Al 20HHI 13,500 0 13,500
NALEAxH 13,500,000 13,500
= 3,465
= 10,035
HARILFRATAIZLH(ER) 2,300,000 500,000 1,800,000
[ 150,000




SN BRAMYSTD
I ARG
o9l JEdg EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 2,150,000
401 AIEHIX 20 2,300,000 500,000 1,800,000
[ 150,000
s 2,150,000
01 AlZ8| 2,297,840 496,400 1,801,440
DHHAEAEHATAIES
2,297,840,000& 2,297,840
= 148,920
s 2,148,920
03 Al 2 HYI 2,160 3,600 1,440
DAAE I HACAIES
2,160,000& 2,160
[ 1,080
o 1,080
Bt 2 d B Y 735,000 854,000 119,000
101 e124d| 45,000 50,000 25,000
M ORNZZ2NSE S 45,000 50,000 25,000
NIIH2EXR S B 45,000,000 45,000
206 M=l 400,000 300,000 100,000
01 MZH| 400,000 300,000 100,000
N2IY T Z2UR7Y
400,000,000 400,000
401 Al HIZ S OHYI 290,000 504,000 214,000
01 AlZ2H| 290,000 500,000 A210,000
NZFE =4 90,000,000 90,000
NE2FE =8 ZUSR ATHSA
90,000,000 90,000
ol HHE2 F ZE3A
100,000,000 100,000
NESIAAEZW =8AY
10,000,000& 10,000
s3] 640,000 500,000 140,000
401 AlEHIZL SO 640,000 500,000 140,000
01 Al&HI 640,000 500,000 140,000
SR8 Nx & |A2el
80,000,000 80,000
NEREY o= § sXz2a
160,000,000 160,000
NEREY =37 S A2
400,000,000 400,000
Je-ESTEs4(205428013) 2,400,000 0 2,400,000
CH 1,500,000
= 900,000
401 AlZHIZ S0 1,200,000 0 1,200,000
CH 300,000
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SN BRAMYSTD
I ARG
el SAlEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AL =S F=HI 35,000 35,000
ST DIUZAT 7
35,000,000& 35,000
ADIE2ATTMAANERF(EX) 700,000 700,000
= 360,000
s 350,000
401 AIEHIZ SR THYI 700,000 700,000
= 350,000
[Ea 360,000
01 Al&HI 695,590 695,590
1A AIE AL 695,590,000 * 1 A-+13] 695,590
= 347,79%
= 347,795
03 AlE2CHY] 4,410 4,410
NADIESATALMAA LS
4,410,0002! 4,410
= 2,205
s 2,205
NEIZUHEZA=ZELE(BEX) 5,000,000 5,000,000
7l 2,500,000
= 2,500,000
301 EtE NS 1,500,000 1,500,000
Il 750,000
= 750,000
14 IIEt2 83 1,500,000 1,500,000
DAEII=UHE=AEEY
1,500,000,000& 1,500,000
) 750,000
o 750,000
401 AIEHIZ SR 0HYI 3,500,000 3,500,000
Jl 1,750,000
T 1,750,000
01 Al&H| 3,490,550 3,490,550
NASIIZUHECAERE
3,490,550,000& * 100 2 3,490,550
Il 1,745,275
[Ea 1,745,275
03 AIZSTHYI 9,450 9,450
NXEIIZUHECAN=ES
9,450,000& 9,450
Jl 4,725
[Ea 4,725
ZIVEUSSAZ=ZHE(BX) 1,000,000 1,000,000
Jl 1,000,000




SN BRAMYSTD
S MRS
el SAl=Z2 (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
301 LPBNZ 400,000 0 400,000
| 400,000
14 JIEt2 A3 400,000 0 400,000
NE2ISUSTAEES
400,000,000 400,000
| 400,000
401 A& HIZLS0HY| 600,000 0 600,000
| 600,000
01 Al&HI 597,840 0 597,840
NE2ISUSTAEEY
597,840,000& 597,840
| 597,840
03 Al CHHI 2,160 0 2,160
DEERIESSISEVEESS
2,160,000& 2,160
J| 2,160
OIEPIZEHETAIERAL(EX) 2,000,000 0 2,000,000
| 1,000,000
i 1,000,000
301 LPENF 800,000 0 800,000
J| 400,000
i 400,000
14 JIEt2 43 800,000 0 800,000
NetEIZEUHSEAI=EY
800,000,000& 800,000
| 400,000
= 400,000
401 A& HIZ 200 1,200,000 0 1,200,000
| 600,000
= 600,000
01 Al&HI 1,195,680 0 1,195,680
NI EUHSEAI=ZS
1,195,680,000& 1,195,680
| 597,840
= 597,840
03 Al CHYI 4,320 0 4,320
N IIZUHSEEAI=EY
4,320,000 4,320
| 2,160
= 2,160
Moot =MEISJA(EX) 3,220,790 1,646,500 1,574,290
| 1,654,553
& 469,871
= 1,09, 366




FA JEMESED
I ARG
el SAl=Z2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 3,220,790 1,646,500 1,574,290
Jl 1,654,553
== 469,871
[Ea 1,096,366
01 Al&HI 3,116,000 1,590,000 1,526,000
1) S Atl 3,116,000,000& * 19 2A+12] 3,116,000
Jl 1,581,200
=S 460,440
s 1,074,360
02 2/l 92,000 55,000 37,000
NDAEtE MBS AlS2el 89
Bl 92,000,000 92,000
Il 64,400
== 8,280
o 19,320
03 Al 20HHI 12,790 1,500 11,290
Aol ete S MEH =& A
5,116,000,000& *0.25% 12,790
Jl 8,953
[ 1,151
Ea 2,686
MOt = MENSRIAILEISHBIHER) 120,000 120,000 0
Jl 84,000
< 10,800
[Ea 25,200
401 Al HIZL 201 120,000 120,000 0
Jl 84,000
=S 10,800
s 25,200
01 AlZ8| 120,000 120,000 0
DAt =3 A=A EISEE I
120,000, 0002 * 19 A-*13] 120,000
Jl 84,000
=S 10,800
s 25,200
NS EMEHSAAINE A (EX) 130,000 130,000 0
7l 91,000
= 11,700
o 27,300
401 Al HIZ R 0HbI 130,000 130,000 0
Il 91,000
= 11,700
Ea 27,300
01 A28l 130,000 130,000 0




SN BRAMYSTD
I ARG
el SAlEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
DAt =3 2=S/AE AR LA S A
130,000,000 130,000
Jl 91,000
[ 11,700
T 27,300
Nt s S| (AHSRRKA22)) (2X) 224,640 224,640
Jl 157,248
[ 20,218
Ea 47,174
401 Al HIZL 201 224,640 224,640
Il 157,248
s 20,218
s 47,174
01 Al&HI 224,640 224,640
NSRS 2L
3,120,000& x72nax12] 224,640
Jl 157,248
=S 20,218
s 47,174
NEXRA=EL (HEAY) 1,000,000 1,000,000
< 500,000
s 500,000
401 Al HIZL 2048 1,000,000 1,000,000
= 500,000
= 500,000
01 Al&H| 1,000,000 1,000,000
DXEXRoE=XZ LAY
1,000,000,000& 1,000,000
=S 500,000
s 500,000
X=X H(EX) 1,668,000 1,668,000
7l 1,000,800
= 667,200
401 Al HIZL 201 1,668,000 1,668,000
Il 1,000,800
= 667,200
01 Al&H| 1,662,000 1,662,000
[DRLESPNESAST s 1,662,000,000& 1,662,000
) 997,200
[Ea 664,800
03 AlE S THYI 6,000 6,000
[DRlESPNEEASTEE s 6,000,000 6,000
Jl 3,600
[Ea 2,400




SN BRAMYSTD
ZE: MRS
el SAlEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SAEZH(MHSEEL) (HEAIY) 600,000 200,000 400,000
= 300,000
= 300,000
401 AlZHIZ S 0HbI 600,000 200,000 400,000
= 300,000
[Ea 300,000
01 A28l 556,800 198,560 368,240
NEAEZY(MESATY)(HEAY)
556,800,000 556,800
== 278,400
[Ea 278,400
03 Al 20HHI 43,200 1,440 41,760
NEASEZE(MSIAXE)(HEAY)
43,200,000& 43,200
= 21,600
Ea 21,600
U EHEEE(ExX) 720,000 252,000 468,000
== 252,000
o 468,000
401 AIEHIZ SR 0HYI 720,000 252,000 468,000
[ 252,000
T 468,000
01 Al&HI 715,600 250,186 465,414
NFUSHHEAEE 715,600,000 715,600
= 250,460
= 465,140
03 AIZSTHYI 4,400 1,814 2,586
NFUSHHEA=ETH 4,400,000 4,400
=S 1,540
s 2,860
AAIt22 8 (M EAY) 450,000 0 450,000
< 225,000
= 225,000
401 Al HIZL 01| 450,000 0 450,000
= 225,000
= 225,000
01 Al&H| 446,760 0 446,760
NARIIZEE (HEAIY)
446,760,000 446,760
S 223,380
o 223,380
03 A& S CHYI 3,240 0 3,240
NAFIIZ 2 (HEALY)
3,240,000 3,240




SN HALNYEBDY
ZE: MRS
el SAlEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,620
s 1,620
HEIIZZLTH(HEAIY) 450,000 101,080 348,920
= 225,000
Ea 225,000
401 AIEHIX R0 450,000 101,080 348,920
=S 225,000
s 225,000
01 AlZ28| 446,760 100,000 346,760
NESNZ2EL g (HEAY)
446,760,000 446,760
< 223,380
= 223,380
03 Al 2CHYI 3,240 1,080 2,160
NYSi2sd T4 (MEAY)
3,240,000& 3,240
= 1,620
o 1,620
USRSEL(HEAIY) 50,000 65,000 /15,000
[ 40,000
Ea 10,000
401 Al HIZL S 0HYI 50,000 27,300 22,700
= 40,000
= 10,000
01 Al&HI 50,000 27,300 22,700
nussdxy 50,000,000& 50,000
= 40,000
Ea 10,000
JIE=01A 200,000 450,000 250,000
401 Al HIZ R 0HHI 200,000 100,000 100,000
01 AlZ28| 200,000 100,000 100,000
1)J1550/4] 200,000,000 200,000
AAIEZII =104 =4 705,400 492,000 213,400
101 @124H| 160,000 40,000 120,000
M ORIMZZ2NSE S 160,000 40,000 120,000
DAIHEZII=10048 e 124t]
160,000,000& 1= 160,000
201 eer23y| 9,400 9,400
01 AtR2t2lHI 9,400 9,400
NYXH ol EXYR=
9,400,000& 9,400
206 M=l 110,000 250,000 140,000
01 MHZHI 110,000 250,000 140,000




SN HALNYEBDY
ZE: MRS
el SAlEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NAEZI=1004E =28 HE7L
90,000,000& 90,000
N=dsEa 22 7 20,000,000 20,000
401 Al HIZ R OHHI 426,000 202,000 224,000
01 AlZ8| 426,000 200,000 226,000
DAMAHEZII=10048 2&3 A AlEHI
126,000,000 126,000
DAAEZIIE10048 2 EXI0HLH
300,000,000& 300,000
ST Al 400,000 300,000 100,000
401 AIZHIX S0HH 400,000 300,000 100,000
01 AlZ2H| 400,000 300,000 100,000
NE TAl= AlHl 2 2
200,000,000 200,000
NE TAls 2= 200,000,000 200,000
HISERSHLHMEIZ R E(HEALY) 400,000 0 400,000
= 268,000
= 132,000
401 Al HIZ S 0HbI 400,000 0 400,000
= 268,000
[Ea 132,000
01 A28l 400,000 0 400,000
NEEEZELHEVE2ME (RIS, AAL 23t
OISl A (Al2| ZAReseZ2 M E)
400,000,000& 400,000
== 268,000
o 132,000
UYL (D ELN300) (M EAY) 400,000 400,000
401 Al HIZL 201 400,000 400,000
01 Al&H| 400,000 400,000
NEAHFEE (I ELE00) (M)
400,000,000& 400,000
SclEoE X (I ELT00) (HEAIY) 200,000 200,000
401 AIZHIX S THE 200,000 200,000
01 A28l 200,000 200,000
NEclEod a2 d(FELA0) (M)
200,000,000 200,000
SIOIEHIDIE A e (T 8L A300) (HEALY) 260,000 0 260,000
401 Al HIZL S 0HYI 260,000 260,000
01 Al&HI 260,000 260,000
1)3I0I EHIOIE A H (DS L A300) (M &)
260,000,000 260,000
== HEE (DS LH300) (HEAL) 260,000 260,000
401 AIEHIX S0 260,000 260,000




SN HALNYEBDY
I ARG
el SAlEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 260,000 0 260,000
=22 8 24 (DELA300)(HE)
260,000,000 260,000
FRASALYSH (LX) (HEAY) 420,000 0 420,000
401 AlEHIYL S0 420,000 0 420,000
01 A28l 420,000 0 420,000
NFLASAS A LAI0) (X&)
420,000,000 420,000
CENsZER2AC2E (EX) 106,000 0 106,000
= 53,000
=S 5,300
s 47,700
101 ©1AH| 90,000 0 90,000
= 45,000
= 4,500
[Ea 40,500
04 JIZtN22 XS 2+ 90,000 0 90,000
NEAIEZA 220 2AY(EX)
90,000,000 90,000
= 45,000
= 4,500
Ea 40,500
201 fer=3| 10,000 0 10,000
= 5,000
= 500
Ea 4,500
01 AtR2t2|HI 10,000 0 10,000
NEA=EER 22l 2EAY(ExX)
10,000,000& 10,000
= 5,000
= 500
[Ea 4,500
206 M=l 6,000 0 6,000
= 3,000
= 300
o 2,700
01 MZH| 6,000 0 6,000
NEA=EER 22l 2EAY(ExX)
6,000,000& 6,000
= 3,000
= 300
= 2,700
WNEISEN 6,814,090 6,807,305 6,785
= 2,626,012
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SN HALNYEBDY
I ARG
o9l AEEL EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 16,625
401 AIEHIX 20 35,431 53,080 A17,649
= 13,979
= 4,827
= 16,625
01 Al&H| 34,966 52,615 A17,649
NYBZE(EX) 29,766,000& 29,766
= 13,747
= 4,757
= 11,262
NAMYZH I2L2(2H)
5,200,000 * 104 2= 5,200
03 AlESTHYI 465 465 0
1NYBtE(Ex) 465,000 465
= 232
= 70
Ea 163
ZURZE(EX) 17,234 30,286 13,052
= 107
= 4,476
Ea 12,651
401 AIZHIX S0 17,234 30,286 13,052
= 107
= 4,476
= 12,651
01 Al&H| 17,061 29,973 A12,912
DRI EINESS
17,061,000 * 100 2 17,061
= 107
S 4,441
= 12,513
03 AIZ2THYI 173 313 A140
DA THoH 2R =& 173,000 173
S 35
o 138
KNSESTE(EX) 728,506 1,354,086 625,580
= 364,253
= 109,276
o 254,977
401 Al HIZ S OHbI 728,506 1,354,086 N\625,580
= 364,253
= 109,276
o 254,977
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I ARG
o9l AEEL EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 721,222 1,345,462 N624,240
NEXIS AR 103,046,000 103,046
= 51,523
< 15,457
[Ea 36,066
DEEEE 618,176,000 » 100 A 618,176
= 309,088
< 92,726
[Ea 216,362
03 Al 20HHI 7,284 8,624 1,340
NEXIS AR 1,040,000& 1,040
= 520
S 156
[Ea 364
DEEEE 6.,244,000& 6,244
= 3,122
== 937
[Ea 2,185
BB (MBI TAIE) (EX) 50,814 188,981 138,167
= 25,907
== 7,470
o 17,437
101 e/24d| 50,814 162,721 A111,907
= 25,907
= 7,470
o 17,437
04 JIZtN2Z2 XS+ 50,814 162,721 A111,907
=PRI T AR Q12|
50,814,000 50,814
= 25,907
= 7,470
o 17,437
I NEHRYHEY 298,000 100,000 198,000
101 e124d| 277,000 100,000 177,000
M ORNZZ2NSE S 277,000 100,000 177,000
NEYE 2 22| 277,000,000 277,000
201 er23 | 21,000 21,000
01 At2teltl 14,000 14,000
A2 HNTH 2
14,000,000& 14,000
02 S3=gHl 7,000 0 7,000
N&AYFH2E FRY 7,000,000 7,000
FASIRI|(ExX) 1,038,170 468,615 569,555
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I ARG
o9l AEEL EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 519,080
=S 185,722
s 363,368
401 Al HIZ R 0HbI 1,038,170 468,615 569,555
= 519,080
= 185,722
Ea 363,368
01 AlZH| 1,031,622 464,308 567,314
1OILIRIOHR] 51,741,000& 51,741
= 25,870
= 7,761
= 18,110
1NE2HH 405,315,000 405,315
= 202,658
= 60,797
= 141,860
DEL:E 310,452,000 310,452
= 185,226
= 46,567
= 108,659
NS0 =310 264,114,000 264,114
= 132,057
= 39,617
= 92,440
03 AIZ2THYI 6,548 4,307 2,241
1NOILIRIHR] 330,000 330
= 164
= 49
= 17
Ng=2H/A 2,571,000& 2,571
= 1,284
< 385
= 902
DEL:E 1,970,000& 1,970
= 984
& 2%
= 691
NS0 gEIt3R0| 1,677,000 1,677
= 837
< 251
s 589
SAIINER) 488,160 406,709 81,451
= 244,080
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< 48,816
s 195,264
401 AlEHIZL S0 488,160 406,709 81,451
= 244,080
== 48,816
[Ea 195,264
01 Al&H| 484,646 404,359 80,287
NOIMIZIA K2 S 2221 )
484,646,000 484,646
= 242,323
== 48,465
o 193,858
03 Al 20HHI 3,514 2,350 1,164
NOIMIZIX K2 S B2l21)
3,514,000& 3,514
= 1,757
& 351
Ea 1,406
PEAIE(EX) 241,429 375,000 A133,571
= 88,286
o 153,143
401 AIEHIX SO 241,429 375,000 133,571
= 88,286
o 163,143
01 AlZ2H| 239,839 370,275 130,436
NEY A ¥ X2
239,839,000 239,839
< 87,968
[Ea 151,871
03 Al 20HHI 1,590 4,725 A3,135
NUEYTAIL & KR 242
1,590,000 1,590
= 318
Ea 1,272
LTAIE(2ER) (HEALY) 290,000 182,151 107,849
== 211,700
o 78,300
101 e124d| 14,286 14,651 A365
< 10,429
= 3,857
M ORIMZZ2NSE S 14,286 14,651 A\365
Nzl el 14,286,000 14,286
= 10,429
= 3,857
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 275,714 167,500 108,214
= 201,271
= 74,443
01 Al&H| 213,729 166,294 107,435
NYTTENY U 24 S
273,729,000 273,729
=S 199,822
s 73,907
03 A& S CHYI 1,985 1,206 779
NYTIEN U 24 S
1,985,000 1,985
= 1,449
= 536
XEHLUHS(Ex) 992,160 1,255,231 A263,071
= 694,511
S 148,825
= 148,824
401 AlZHIZ SO 992,160 1,255,231 A263,071
= 694,511
[ 148,825
Ea 148,824
01 Al&HI 984,989 1,246,447 N261,458
1)t AR 786,429,000 786,429
= 550,500
== 117,965
o 117,964
1)oH e THE 198,560,000 198,560
= 138,992
s 29,784
s 29,784
03 Al 20HHI 7.1 8,784 1,613
1)t AR 5,731,000& 5,731
= 4,011
s 860
s 860
1)1 e THE 1,440,000& 1,440
= 1,008
s 216
s 216
AEAE (2 X) 774,757 693,756 81,001
= 542,330
=S 116,213
s 116,214
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 774,757 693,756 81,001
= 542,330
== 116,213
[Ea 116,214
01 Al&HI 769,762 688,900 80,862
NAREHE 192,362,000 192,362
= 134,653
=S 28,854
s 28,855
1AM e 496,400,000 496,400
= 347,480
=S 74,460
s 74,460
1) AEXIAREY 81,000,000 81,000
= 56,700
=S 12,180
s 12,150
03 Al 20HHI 4,99 4,856 139
NAREHE 1,395,000& 1,39
= or7
=S 209
s 209
T)ArEE 3,600,000 3,600
= 2,520
= 540
o 540
ALAISBOIE Z M A SHEX) 4,400 5,500 A1,100
= 3,080
= 660
o 660
401 AlZHIZ SO 4,400 5,500 1,100
= 3,080
= 660
[Ea 660
01 AlZH| 4,400 5,500 1,100
NAMZAIZ A E A 4,400,000 4,400
= 3,080
= 660
= 660
ANLAIE g X 22l (BX) 50,000 57,000 /7,000
= 35,000
= 7,500
= 7,500
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o9l AEEL EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 50,000 57,000 A7,000
= 35,000
== 7,500
[Ea 7,500
01 Al&HI 49,460 56,602 AT 142
NAFZAIE SR 22l 49,460,000 49,460
= 34,622
=S 7,419
s 7,419
03 A& S CHYI 540 398 142
NAIZAIE F R 22l 540,000 540
= 378
=S 81
s 81
APAFERTH S E AT HH (2 ) 9,100 7,700 1,400
= 4,550
= 4,550
401 AlZHIZL SO 9,100 7,700 1,400
= 4,550
o 4,550
01 Al&H| 9,100 7,700 1,400
1) &FAFEHRHE S T 9,100,000& 9,100
= 4,550
o 4,550
AP THOH L Kt (AFAIEHE B O E) (EX) 30,570 29,940 630
= 12,228
Ea 18,342
101 @124H| 30,570 29,940 630
= 12,228
= 18,342
M ORNZZE2NSES 30,570 29,940 630
1) AHAERS Z Ol e 30,570,000& 30,570
= 12,228
o 18,342
St EH| 10,000 87,000 AT7,000
401 AlZHIZ SO 10,000 87,000 AT7,000
01 A28l 10,000 87,000 AT77,000
N&3d Sl B HES
10,000,000 10,000
SLTL U (MEAY) 140,000 100,000 40,000
= 70,000
= 70,000
401 AlEHIZ R0 140,000 100,000 40,000
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I ARG
o9l AEEL EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 70,000
s 70,000
01 Al&H| 138,992 99,100 39,892
NAEA SMHZFY 138,992,000 138,992
= 69,496
o 69,49%
03 AIESTHYI 1,008 900 108
N4 SAZFY 1,008,000 1,008
s 504
e 504
BS+FHI(ExX) 40,000 80,000 240,000
& 10,000
= 30,000
401 AIZHIZ SO 40,000 80,000 240,000
= 10,000
o 30,000
01 Al&H| 39,568 79,280 A39,712
NEs= FH 39,568,000& 39,568
= 9,892
o 29,676
03 Al 20HHI 432 720 N288
NES+ F 432,000 432
< 108
T 324
B2 H-FH| 15,300 17,000 A1,700
401 AIZHIZ S0 15,300 17,000 A1,700
01 Al&H| 15,300 17,000 1,700
NEss & L FH 15,300,000& 15,300
SSt AR M EANER) 16,590 15,000 1,590
s 4,980
s 11,610
401 Al HIZL R 0HbI 16,590 15,000 1,590
[ 4,980
Ea 11,610
01 Al&HI 16,590 15,000 1,590
NESotE 2| A EAHEX)
16,590,000 16,590
= 4,980
= 11,610
MHHMSLM(EX) 269,918 92,429 177,489
= 37,620
= 70,230
= 162,068
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SN HALNYEBDY
I ARG
o9l AEEL EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEEE BALYY P2
3,640,000& 3,640
= 1,560
Ea 2,080
&X0IERE 43,000 25,000 18,000
201 et 3| 43,000 0 43,000
01 At 22|l 43,000 0 43,000
NARFRES U & |A2els8d
22,000,000 22,000
NAXR2E 2L THEH &S
21,000,000& 21,000
SO IHI(FUEHAMA) 70,000 0 70,000
401 AIZHIX S0HH 70,000 70,000
01 AlZH| 70,000 70,000
NS&Z ZHIDI ALY 60,000,000 60,000
Ns&tz AIg2 szl
10,000,000 10,000
AH2IJH(HAMHD) 72,078 96,064 N23,986
eIg =g 57,078 76,444 A19,366
el 2d| 57,078 76,444 19,366
101 21A4H| 57,078 76,444 19,366
01 2= 57,078 76,444 19,366
NARII2R+H65
12,5313 %2 +30A1 2t 122 9,023
NAIZI22R+273
11,3192 x4 +30A1 2t 122 16,300
NAIZI2I 22282
10, 1622 «3& *30A[ 2+ 122 10,975
NARII2R+295
9,620 x6&*x30A| 2+ 123 20,780
=& 15,000 19,620 A4,620
Jl=3H] 15,000 19,620 A4,620
201 er23| 2,040 2,880 AB40
01 At2tltl 2,040 2,880 AB40
NEM2Y ARl
120,000& %17 2,040
202 048l 8,160 11,520 23,360
01 2L AL 8,160 11,520 23,360
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